ER-IERRREE-RR

TMTESA29BRE

HEXEE LEEMSSEL

FFR P 2R X R
& har — R X FaER
TETHEEF O |ERAE
X7 (BKE) FER=EHEE |19
(EWKE) |TERSEHEE |-
i mEEHREE | K)IRE=204
#K e —
s f‘gﬁfgg”‘ﬁﬁ FERII [ E0R], BAIREEMIIAKR 21 A5k ]
R E 5 EE 20m/s
REAE FHEE 20m/s BERES
AE BEORE 12B5EIR% & DR 10om
R ARRE
=3 B *2
- REMEEULE |13
TIERSHEHEEE 130
RERERHEE |[KLIERE=163
stk Eﬁ%%” —
EEAIEKTR | _
IZkBEHE
58 FHRE 13m/s
RAE T RE 13m/s BEFHFS
RE BEDRS 1285 1% E D FES5cm
EER R HFE2ES
=i AL
= EEFICKVBEENTEINDGES
mME
BB RiE [100m
7] B/INEE30% T, EMIEE60%
Ti=n
KR ZH . RIESKRE-4CUT
B BRFEHAICRIESUR3CLULT
EK-ES ZLWVEKGES)AFEINDGE

EEEREARER

i

[100mm

"NREREEY AEFEREY OMAShEICLIREBEERLTVET,
2 BHIEAESHDREKMBIFREANTDIZE T EEHEHNERKELCINNDREOTERREEELT. ChICISTERERERRTIHEPHYFETS.



